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(ii) ¥¥7 &1 @ 10 3R 18 @ 27 37fad TY-3T0T IR & J97 &, I9% J97 1 3%
H & | §7 I U IIeq I1 T T H GG |

(i) F¥7 §&IT 11 37K 12 371K 28 37 29 &TY-ITHIT FHR & Fo7 &, IA%H T
3 37h] HT & | F7HT I TTHT 60 T 80 ¥s3] 7 Fforw |

(iv) 397 &I 13 @ 15 37X 30 T 32 ¥} TY-IHIT JBR & T &, F9% o7
4 37 BT & | 37T I TTHT 80 & 100 5] § 5w |

(v) 97 G&IT 16 IR 17 3K 33 3N 84 FH-370F YHR & I97 8, I35 o7
6 37H] HT & | 37T ITR TTHT 100 & 150 55! § e |

(vi) IR GIErT a9 fegar &4 FieY KG9 & I9gFd 95 FIAT H1 JIETE G177
HIorg |

(vii)) ¥¥7-97 7 HI3 GH7 f[dHcT 781 8 | a9ifi, vh-uh 37 qie §F yo Tl H, di-diT
3% FIc? S Iv §, TR-°IR bl it g I 7 3N T:-T: bl Gt §F I
7 37TaRe faseq 130 70 & | 08 Y91 § dact T &7 fdeq &7 It 1T |
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1. 3 forelt srefeyawen shi @vqui sffafea 3T &1 IUWRT foham ST &, ar e
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(A) = (0)

(B)  STINWING (w0)
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(D) <" (10)
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises two sections — A and B. All questions are
compulsory.

(it)  Question numbers 1 — 10 and 18 — 27 are very short-answer questions
carrying 1 mark each. They are required to be answered in one word or
one sentence each.

(iti) Question numbers 11 — 12 and 28 — 29 are short-answer questions
carrying 3 marks each. Answers to them should not normally exceed
60 — 80 words each.

(iv)  Question numbers 13 — 15 and 30 — 32 are also short-answer questions

carrying 4 marks each. Answers to them should not normally exceed
80 - 100 words each.

(v) Question numbers 16 — 17 and 33 — 34 are long answer questions carrying

6 marks each. Answers to them should not normally exceed
100 - 150 words each.

(vi) Answers should be brief and to the point. Also the above word limit be
adhered to as far as possible.

(vii) There is no overall choice. However, an internal choice has been provided
in 2 questions of one mark, 2 questions of three marks, 2 questions of four
marks and 2 questions of six marks. Only one of the choices in such
questions have to be attempted.

(viit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

(Macro Economics)

1. If the entire additional income of an economy is consumed, the value of

investment multiplier will be . (Choose the correct alternative) 1
(A)  zero(0)

(B) not defined ()

(C) one(1)

(D) ten (10)

58211 3 PT.0.




2. THEEGUHIBTHIRATH 7| s
(@&t faehew =1 === Hif)

(A) U ITAN YSfid g
(B)  Ushed ITANT IUMIRHI aq

(C) Tepre Iuwh ag

(D) Fd-feahre IuvhT a%q

AT
frafafea # @ SF-81 97 9ohd UK 371G (GNP) 3Taehifae i gt g ? 1
(Tgt feoepeu o1 = hifsme)
A GNP 100
&) e
5 redfass GNP 100
®) Hifgsh GNP *
c redfas GNP 100
R A A Rk
HETEhITd 1 3 | aREeH
(D) GNP x 100
3. U og AAEEAT T U AT % ¢ Fhi o A1 fofau | 1
4. IRA TR 1 Toie (Tfafafyr) e aargsr g g |
(T8 I g e Toe i qfd Hifse) 1
5. 3o ity for FTAIiad ed e 8 a1 318 1
“Herehifa 1 HH B o TAIU, B ook I Tohg ARG 3TTIM (CRR) i A
T =R |7
6. & U W B I TR 5, TR SIS hl T H1 Teh THR
2 (T I g T Tom 61 gfd hife) 7
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2. A car purchased by a household is a 1
(Choose the correct alternative)
(A) single use capital good
(B)  single use consumer good
(C)  durable consumer good
(D) semi-durable consumer good
OR
GNP deflator is represented by which of the following formulae ? 1
(Choose the correct alternative)
(A) Nominal GNP <100
Real GNP
(B) Re.al GNP <100
Nominal GNP
©) 'Real GNP 4100
Change in Rate of Inflation
D) Change in Rate of Inflation <100
Real GNP
3. Name the two components of Aggregate Demand in a closed economy. 1
4. is the agent and adviser to the Government of India.
(Fill in the blank with correct answer) 1
5. State whether the following statement is true or false : 1
“To reduce inflation, the Central Bank should reduce Cash Reserve Ratio
(CRR).”
6. Government expenditure incurred on defence items is a type of
expenditure in the Government Budget. 1
(Fill in the blank with correct answer)
580211 5 P.T.0.




10.

11.

12.

Ioorg hifvre for feafafaa oM g 2 a1 swa
“yefeq fordt fafma <@ yoneft # R vy w9 9 fotmy @ = e st
%l”

“foeett @y g YW HdeH @ % (STe1/A) vy § oo feRam
ST | (w3 gr ek T st i i)

AR AT (T ) TIfeqn & IS a1 3eTeT i |

I eifoe foh U wredier tefeawe |, 3T <l TURT T 500 HUS T o
T 600 HUS & Il B | IUmHG:, UM ¥ T 400 HUS F §]
T 500 HUS & A1 7 | 39 IRfEAfd § e a9 Sgia w1 7=

BT | (Tl foeheq =1 =F Hifw)
A 08
B) 04
< 10
(D) 06

“Fehat =T 379G (GDP) Toreht <1 hi Srefezaen o 3Tiieieh oA w1 FaH
e &l & |7 fSU M0 e 1 AT SR Gfgd G0 ALAGT WA HIT |

Ifc awy IMYfd (AS) T go1 H THY "1 (AD) AT &1, @ 39 gRfeafa §
TS aF sl Rt 61 ==t i |

YT
Ife weh TfeTEAT |

YRS faw § uftEds (AD = T 1,000 U,
T s=d Jgi (MPS) = 0-2.

FTfiad o Hod 1d i

(a) o= ok (K)

(b)  3ifcH 3 H gfiEaq (AY)
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11.

12.
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State whether the following statement is true or false :
“Under a managed floating exchange rate system, the Government
directly controls the exchange rate.”

‘Charity from Abroad’ will be recorded on (credit/debit) side of
the Balance of Payment accounts. (Fill in the blank with correct answer)

Give any two examples of non-tax revenue receipts.

Suppose in a hypothetical economy, the income rises from ¥ 500 crores to
¥ 600 crores. As a result, the consumption expenditure rises from
T 400 crores to T 500 crores. Marginal propensity to consume in such a

case would be . (Choose the correct alternative)
(A) 08
(B) 04
) 10
(D) 06

“Gross Domestic Product (GDP) is not the best indicator of the economic
welfare of a country.” Defend or refute the given statement with valid

reasons.

Discuss the working of the adjustment mechanism if, Aggregate Demand
(AD) is greater than Aggregate Supply (AS).

OR
If in an economy :

Change in initial investment (AI) = ¥ 1,000 crores,

Marginal propensity to save (MPS) = 0-2.
Find the value of the following :
(a) Investment multiplier (K)

(b)  Change in final income (AY)




13.  Sfehn Somelt 1 @@ fmior e w61 fgitor s § |rg s R fiee 8 2

HATcHeh 32180 g HHEATSY | 4
AT

T fod S g, gre e # @ & fou st foer e 9 ot @

el <Al forear @ T ShifST | 4

14. “TUset ws Ag °§ MR sfel (US $) § 0-75 98 Ifd Sier (p/$) 1 39T ot
TS o; I8 IR STo-3TelT SR o =Tl (ffderl qen strmdent) o fog
TEHUES A1 35T o1 Hebet 7 |7 feu Mw e w1 ifu farg Hifrm | 4

15. U T & TIHRI ool § TS 91e o 3fEdcd o o1 Teiepivia =mer 81 &
GohdT |7 TeU U e 1 R 31eET Wed HifT | 4

16. (a) “Th T-gFAh AITEEAT H W H 9gdl VA8 39 ARG (axiom) T
T @ fop fopel T o1 =2 gat 1 3T Bl @ |7 Wi el died 3

I H g FHIf |
(b)  ITUTEH o HoF a1 Hed gig H TR e HIT | 4+2
rrEt
Tsh hicqi-eh Afeaaee o FA=faiad ATl & 9= &, feu mu a9t & foig
AT Fehd BRT] 3cq1G (GDP) 3l TUHT § T i : 6
Y 2015 — 16 2016 — 17
Hifgeh GDP & 8-4% 9%
GDP 1a&hifds 140 125
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13. What role does credit multiplier play in determining the credit creation

capacity of the banking system ? Use a numerical illustration to explain. 4

OR

Elaborate any two instruments of credit control, exercised by the Reserve
Bank of India. 4

14. “US dollar has recorded a jump of 0-75 paise per dollar (p/$) in the last

one month; this situation might bring smiles and sorrows to different

types of traders (exporters and importers).” Justify the given statement. 4
15. “The Government Budget of a country cannot have fiscal deficit without

the existence of revenue deficit.” Defend or refute the given statement. 4
16. (a) “Circular flow of income in a two-sector economy is based on the

axiom that one’s expenditure is other’s income.” Support your

answer with valid reasons.
(b)  Distinguish between ‘value of output’ and ‘value added’. 4+2

OR

Using the following data of an imaginary economy, calculate and compare

the Real Gross Domestic Product (GDP) for the given years : 6
Year 2015 - 16 2016 — 17
Nominal GDP Rate 8:4% 9%
GDP deflator 140 125

58211 9 PT.0.
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17. feu u fug 9, ‘KT 31aUa =1 YeiRid idl 3 2 30 INfEafd & auee & fe
fepmgl QI TSTehINI 3UTT bl 3@ 9 == I |

y
- ADl(C+I+AI)
£ K_.--7/ AD (C+1)
T
45° N
Yr T
gicearfaa o1 & fo7y :

FATEHIfT AT hT FT AL B ? TeThifa Tque i uffeafa o gmum & o
fordi <1 ToreRTT U W1 3g@ 9 ==t HIfT |

Qs @
(VTR STeieaaEeT S Taehm)

18. ad T N TR 4 6 9 14 99 & o= ot s=at & fow foren 3o
aem et Rt & off | (TEt ferepey 1 == hifere)
(A) 2001
(B) 2009
(C) 2003
(D) 2007

3AYAT
frafeifga § @ -91 Tred wa § Tareey & 1 FuEa e @ 2
(T Tasheq &1 == i)
(A) ICMR
(B) UGC
(C) AICTE
(D) RBI
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17. In the given figure, what does the gap ‘KT represent ? State and discuss
any two fiscal measures to correct the situation. 6

y

- ADl(C+I+AI)

AD(C+1)

Aggregate demand

Income

For Visually Impaired Candidates :
What is meant by deflationary gap ? State and discuss any two fiscal

measures to correct the situation of deflationary gap. 6
SECTION B
(Indian Economic Development)
18. In the year , the Indian Government made education free and
compulsory for all children between 6 — 14 years. 1
(Choose the correct alternative)
(A) 2001
(B) 2009
(C) 2003
(D) 2007
OR
Which one of the following organisations regulates the health sector in
India ? (Choose the correct alternative) 1
(A) ICMR
(B) UGC
(C) AICTE
(D)  RBI

58211 1 PT.0.
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19.

20.

21.

22,

23.

Seog hife s fmfefaa e ao 3 rean e -
“oftr d Mgt @ o1 g forelt SR o fote fH-gmer i = e fgifa
m%l”

FicT [ H < TS FEATST o i o 1Y 0 hleh Hic77 11§ feu v faemedi
% & AT I UgAM HINT

FHicaq I BHiaa I1

a. |fovd SR @ (WTO) | (1) | Yma= Sqe sl T0E &1 8§ hid
% AT STeushlel 0T YgH T 2 |

b. | YT fiod S (RBI) (i) | Uoh g SR ardt e B |

c. | AT gl N (IMF) | (iii) | gAET0r iR foepra & forw o <3 Y
glaar JgH L 3 |

d. | TS gafmtor 3 (iv) | YR T Heald b 7 |
o™ % (IBRD)

fafafga 7 9 92t fosreq 1 =94 SifvT -
(A) a-(i1), b-(1), c-(ii1), d-(iv)
(B) a-(i), b-(iv), c-(ii), d-(1)
(C)  a-(ii), b-(iii), c-(iv), d-(1)
(D)  a-(id), b-(iv), c-(i), d-(iii)

Tq13M 4 e iy B I I a9 T &l oft |
(T Tashed &1 == i)
(A) 1951
(B) 1955
(C) 1958
(D) 1962
A § Iy fomqarmer & fow s aeen =1 am fafeau |
HIT ! TIW G G=aid AreHTsTi | A w1 S T ITAAT h
Tl & foru femam T e | (T8 I R e o hi qfd Hifs)
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19. State whether the following statement is true or false : 1

“Land ceiling means fixing the minimum limit of land holding for an
individual.”

20. Identify and match the correct sequence of alternatives of organisations

given in Column I with their respective functions in Column II : 1
Column I Column II

a. | WTO (1) | provides short-term loans to solve
the Balance of Payments problem.

b. | RBI (i1) | is a multilateral trade negotiating
body.

c. | IMF (ii1) | facilitates lending for reconstruction
and development.

d. | IBRD (iv) | is the Central Bank of India.

Choose the correct alternative from the following :
(A)  a-(ii), b-(1), c-(ii1), d-(iv)
(B) a-(ii), b-(iv), c-(iii), d-(i)
(C)  a-(ii), b-(iii), c-(iv), d-(i)
(D)  a-(ii), b-(iv), c-(1), d-(iii)

21. Mao initiated the ‘Great Leap Forward’ in the year . 1
(Choose the correct alternative)
(A) 1951
(B) 1955
(C) 1958
(D) 1962
22. Name the apex institution for rural financing in India. 1
23. policy was implemented in the first seven five-year plans of
India, to protect domestic industries. 1

(Fill in the blank with the correct answer)

58211 13 PT.0.
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24.

25.

26.

217.

28.

29.

Tl o SATFETH Gl hT Teh IS 7 |
(Tgt faspeu 1 =34 hifom)
(A) TS AR
(B) I
(C) Y 1 FHSI-H=
(D)  FEI TR & 39

Ie <hifau o f=faifiaa oM 9o 8§ 319en 3w

“orferEa™ 1 g H, 9RA § TS @1 § A9 T T AT T ST A1
%l”

Toreft wep wEeT hFat 1 A fafgT |
fafafigd § 9 s9-a1 Sfaes @dt 1 T a9 787 8 2

(Tgt foepeu 1 ==A i)
(A) I& T

B) 99 W s gfawd
(C) 3T <hl 3fes g9
(D) 3= 9N g1

“arg A fotelt (Ifh) & 1 w2 yg@ AR 1 AT e ggar 8 17 fon
T4 kA <hl AT dohl Tigd ==l i |

AT

“1964 — 66 % frarm T i FHHIRET H AN FH T ARG FARA @B |7
fau MU oM o wHLA # A=Y qh SEa I |

“URA FHR 7 B B H Fedl g3 gl % HRoT MTNL d1 BSNL & oo™
<1 =ion h B |17 IRd TR g0 331U T sheAl bl ey firg hif |
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24, is an example of a commercial source of energy. 1
(Choose the correct alternative)

(A)  Firewood
(B) Coal
(C)  Agricultural waste
(D)  Dried dung cakes

25. State whether the following statement is true or false : 1
“Proportion of people living below poverty line is more in India as
compared to Pakistan.”

26. Name any one Maharatna company. 1

27.  Which of the following is not an advantage of organic farming ? 1

(Choose the correct alternative)
(A) Cheap inputs
(B)  Attractive returns on investment
(C)  Greater possibilities for import

(D)  High nutritional value

28. “Power sector in India has major challenges to face.” Discuss the given
statement with valid reasons. 3

OR

“India has failed to implement the recommendations of KEducation
Commission of 1964 — 66.” Give valid arguments in support of the given
statement. 3

29. “Recently the Government of India has decided to merge MTNL and
BSNL on account of rising losses.” Justify the steps taken by the
Government of India. 3

58211 15 PT.0.




30. T&Y H =l T 6, fohe TR TEATTA GO (W FIW) 7 WRA HN Hl
Sea § HEwaqul YRt g 7 |
T
“Taesht ggr wer it d=a 9 sren-Fuar & Qe e % WY 9Ra H

AT Ufdey @E U 9 |7 HI qehl 9fed feT U e w1 3iifuca fug
i |

31. Tl h! TE-HEA W ARG hl AR T hl fohral o1 T faemaresti w
feoquft i |

32. Y HIUN % GIY, YA R = * g 7 sl i gorr a fowerwor Hifsw

- SHEEA1 6l aTfie ghg

(2015) (ufd TR &)
AR 1-2% 929
EiE| 0-5% 941

Aq : fava T wehaw, 2015

33. Tr=fafaa = afenfya Hifsw .
(A) IO <hl 9T T

o~

(B) Sifae e @ie

(C) yruiy faerm
(D) YITeRuT <hl TSt &Har
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30. Discuss briefly, how institutional reforms (land reforms) have played a

significant role in transforming Indian agriculture.

OR

“Import restrictions were imposed in India with the dual objective to save

foreign exchange reserves and to be self-sufficient.” Justify the given

statement with valid arguments.

31. Comment upon any two salient features of occupational structure of India

on the eve of Independence.

32. Compare and analyse the given data of India and China with valid

reasons :
Sex ratio
Countr Annual growth rate of (per
Y population (2015) thousand
males)
India 1-2% 929
China 0-5% 941

Source : World Development Indicators, 2015

33. Define the following :

(a)  Carrying capacity of environment

(b)  Bio-composting

(c) Sustainable Development

(d)  Absorptive capacity of the environment

58211
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34. (a) UG H FHEA % FHTERRE R feoquft i |
(b)  HTHh-SHEEAT T i TRATT fIRaT | 4+2
HAYAT
IRA § TaAdl § 376 Toh A~ ThU T TIe IV HTshHI o TROTHI
ITArEATeH & HT | 6

580271 18




34. (a) Comment upon the informalisation of labour force in India.
(b)  Define the worker-population ratio. 4+2

OR

Critically examine the results of Poverty Alleviation Programmes
implemented in India since independence. 6

58211 19




